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What annual installment will discharge a debt 

of Rs.10750 due in 4 years at the rate of 5% 

simple interest.

5% साधारण ब्याज की दर से 4 वर्ष में रुपए 
10750 की राशि देय है तो वार्र्षक ककस्त क्या 
होगी?

a) Rs.2000 
b) Rs.2800 
c) Rs.2500 
d) Rs.2400
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Rs.32400 Is payable after 6 years. If he 

wants to pay in 6 equal installments. Find 

each installment if rate of interest is 8% per 

annum.

8% साधारण ब्याज की दर से 6 वर्ष में रुपए 
32400 की राशि देय है तो वार्र्षक ककस्त 
क्या होगी?

a) Rs.3500 
b) Rs.4000 
c) Rs.4500 
d) Rs.4800
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An amount of Rs. 19200 due 3 years hence, is fully 

repaid in three annual instalments starting after 1 

year. The first instalment is 1/2 the second instalment 

and 1/3rd of the third instalment. If the rate of 

interest is 10% per annum, find the first instalment.

3 साल के दौरान रुपए 19200  की राशि, 1 साल के बाद 
िरुू होने वाली तीन वार्र्षक ककस्तों में पूरी तरह से चुका दी 
गई है | पहली ककस्त दसूरी ककस्त का 𝟏/𝟐 है तथा तीसरी 
ककस्त का 𝟏/𝟑 है|  यदद ब्याज की दर 10% वार्र्षक है तो 
पहली ककस्त ज्ञात करें

a) Rs.3000 
b) Rs.3600 
c) Rs.2800 
d) Rs.3500
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If the difference between the compound interest 

compounded annually and the simple interest on 

a certain sum of money for three years at 10% per 

annum is `279, then the sum (in ') is:

यदि एक दिदित धिरादि पर, तीि वर्षों के दिए 10% 

वादर्षिक रूप से चक्रवदृि होिे वािा ब्याज और साधारण 

ब्याज का अंतर '279 है, तो वह धिरादि ( में) ज्ञात करें।

[SSC CHSL 2020]
(a) 10,000
(b) 9,000 
(c) 7,500
(d) 8,000 
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The compound interest on a certain sum of 

money for 3 years, compounded annually, at a 

rate of interest of 10% per annum is `1,324. The 

sum is:

ब्याज की गणना वार्षिक चक्रवदृ्धि आिार पर करते हुए, 

ककसी ननश्चचत राशि पर 10% वार्षिक ब्याज दर से 3 वषि का
चक्रवदृ्धि ब्याज 1,324 होता हैं। राशि ज्ञात कीश्जए।

[SSC CHSL 2020]

(a) `5,500
(b) `4,500
(c) `4,000
(d) `5,000 
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If the difference of the compound interest and 

the simple interest on a sum of money for 3 

years is Rs.186. Find the sum of money, if the 

rate of interest in both case be 10% 

यदद 3 वषि के शिए ककसी राशि पर चक्रवदृ्धि ब्याज और
सािारण ब्याज का अन्तर Rs. 186 है तो मूििन की राशि
ज्ञात करें, यह मानते हुए कक दोनों मामिों में ब्याज का दर
10% है।
[SSC CGL 2018]

(a) Rs.5500    
(b) Rs.7200 
(c) Rs.6500 
(d) Rs.6000
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hat is the compound interest on a sum of 

rupees 10,000 at 14% p.a. for 2
𝟓

𝟕
years where 

the interest is compounded yearly ?

10000 की राशि पर 14% प्रनत वषि की दर से 2
𝟓

𝟕
वषो में

चकवदृ्धि ब्याज ककतना होगा, जबकक ब्याज वार्षिक रूप
से सयोश्जत होता है?

[SSC CGL 2018]

(a) 4,259 
(b) 4,296 
(c) 4,439 
(d) 4,394 
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The compound interest on a certain sum in 

2½ years at 10% p.a., interest compounded 

yearly, is 1,623 rupees. The sum is:

10% प्रतत वर्ष की चकवदृ्धध ब्याज दर से ककसी
तनश्चचत राशि पर 2½ वर्ो में ब्याज 1,623 रुपये है, 

तो जब ब्याज वार्र्षक सयंोश्जत है। राशि क्या है?

[SSC CGL 2018]

(a) 5,000 
(b) 6,000 
(c) 6,500 
(d) 7,200 
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What will be the compound interest on Rs. 

86400 at the rate of 16
𝟐

𝟑
% per annum in 2 

years and 6 months compounded annually?

86400 रुपये का 16
2

3
% वार्र्षक चक्रवधृध

ब्याज की दर पर, 2 वर्ष 6 माह में चक्रवधृध
ब्याज ककतना होगा? 

[SSC CGL 2017]

a)Rs.41000 
b)Rs.41600 
c)Rs.43200
d)Rs.36000
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A sum of money becomes Rs.64800 at 

compound interest. If rate of interest in three 

years is 12.5%, 6 
𝟐

𝟑
% and 9.09%respectively. 

Find the C.I.

एक ननश्चचत िनराशि पर कोई िनराशि 3 वषों में 64800 रु
प्राप्त होता है। यदद ब्याज की दर क्रमि: 12.5%, 6

𝟐

𝟑
% और

9.09% वार्षिक है, तो चक्रवदृ्धि ब्याज ज्ञात कीश्जए?

[SSC CGL 2018] a) Rs.14700 
b) Rs.16300 
c) Rs.13500 
d) Rs.15300
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